Name:

Enrolment No:

LU UPES

UMIVERSITY WITH A PURPOSE

UNIVERSITY OF PETROLEUM AND ENERGY STUDIES

End Semester Examination, December 2021

Course: Data Visualization
Program: MBA(BA)

Course code: DSBA 8001

Semester: |l

Time: 03 hrs.

Max. Marks: 100

SECTION A

1. Each Question will carry 2 Marks
2. Instruction: Write the correct answer(s)

S.No. | Question co
Q1 1. How do you identify a continuous field in Tableau?

a) ltis identified by a blue pill in the visualization.
b) It is identified by a green pill in a visualization.
c) Itis preceded by a # symbol in the data window.
d) When added to the visualization, it produces distinct values.

2. For creating variable size bins we use
a) Sets
b) Groups
c) Calculated fields
d) Table Calculations

3. A good reason to use a bullet graph. co1
a) Analyzing the trend for a time period
b) Comparing the actual against the target sales
¢) Adding data to bins and calculating count measure
d) Displaying the sales growth for a particular year

4. Disaggregation returns all records in the underlying data source.
a) True
b) False

5. By definition, Tableau displays measures over time as a

a) Bar

b) Line

c) Histogram
d) Scatter Plots




6. Which of the following is not a Trend Line model

A. Linear Trend Line

B. Exponential Trend Line
C. Binomial Trend Line

D. Logarithmic Trend Line

Q. Which graph makes you focus on trend rather than individual values?

Month
Janu.. Febr.. Marc.. April May June July Aug.. Sept. Octo.. Nov.. Dec..

2
. Page Views
. Unigue Visito

1 \_——\/\

1}

Feb Apr Junm Aug Oct Dec
Month
Option B

Q. Which graph accurately encodes the value and doesn't skew the values in a misleading w..

2
1
uII|IIIII|I|III I I I I I
Option A
2500
2000
1500
1000
500
0

Hardware Software Services

Option A

2500

2400

2300

2200

2100

2000 - [ |
Hardware Software Services

Opticn B




Q. Which graph makes it easier to identify the states with positive values?
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10.
Q. Which graph is easier to look at?
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SECTION B

1. Each question will carry 5 marks
2. Instruction: Write short/brief notes (Scan and upload)

Q1.

Write the logic of given below Tableau function:
a)
RIGHT([Customer Name], LEN([Customer Name]) - FIND([Customer Name], " "))

b)
IF [Total Expenses] <= 49.99 THEN 'Cheap' ELSEIF [Total Expenses] >= 50 and [Total Expenses] < 100

THEN 'Somewhat Expensive' ELSEIF [Total Expenses] >= 100 and [Total Expenses] < 150 THEN 'Slightly

Expensive' ELSE 'Very Expensive' END

COo2

Q2.

Describe the following functions of Tableau with an example:
a) IF
b) CASE

Cco2

Q3.

Describe the different types of data format mention below which can be connected to Tableau:
Microsoft Excel '

Text file

Microsoft Access

PDF file

Spatial file

Statistical file

co2

Q4.

Describe the following filter screen of Tableau:

co2




Filter [Sub-Category] X

General Wildcard Condition Top
() Mone
(® By field:

Profit ¥ | |Sum A

=p | |

Range of Values

Min: | | Load I
Max: | |
|
) By formula: I
|
|
|
:

Reset Cancel Apply

Section C
1. Each Question carries 10 Marks.
2. Instruction: Write a long answer. (Scan and upload)

Q1. A) Write interpretation for given visualization (Sample superstore database):
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B) Write interpretation for given visualization (Coffee Chain database):
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Q2.

Describe the various components of the Data source page as shown below:

C02
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Q3.

A) Describe the various types of marks used for the analysis as shown below:
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B) Write interpretation for the below regression equation (Coffee Chain database):
Profit = 0.628675*Total Expenses + 27.1093

COo2




Section D

1. Each Question carries 15 Marks.
2. Instruction: Write a long answer. (Scan and upload)

Q1. A) Describe the different objects of the dashboard as shown below diagram:
| Objects
00 Horizontal 4 Image
8 Vertical @ Web Page
A Tex (] Biank %’
Show dashboard title
B) The below visualization compare the budgeted sales with the actual sales of different Types
and Market. Kindly write the visualization for that visualization:
i Columns Cco3
= Rows Type
Sheet 10
Type Market
Decaf Centra - ____________________| |
East | | |
South |
West | |
Regular Centra . _______________________________________________________________________________|
East . _______________________________________________________________________| |
South |
West . ___________________|
0K 10K 20K 30K 40K S0K 0K TOK 80K S0K 100K 110K 120K 130K 140K 150K]
Budget Sales
Q2. Describe the different types of join with the help of two Tables given below:
Jain *
Inner Left Right Full Outer Cco3
Data Source Returns
Crder ID = Crder ID (Returns) 'L\@E
Add naw join cawre




ID  First Name LastName Publisher Type

20034 | Adam Davis Independent

20165 | Ashley Garcia Big

20233 | Susan Nguyen | Small/medivm
Book Title Price  Royalty 1D

Weatherin the Alps | 19.99 | 5,000 20165
My Physics 899 3,500 20800

The Magic Shoe Lace

15.99 | 7,000 | 20034




